
Fil-Tech, Inc.

www.filtech.com paula@filtech.com

Mark I Veeco Commonwealth Ion Source Replacment Parts
IS18002 Front anode support $140

IS18003-G Anode, graphite 71

IS18003-S Anode, stainless steel 55

IS18004 Back anode support 75

IS18005G Gas distributor, graphite 100

IS18005S Gas Distributor, stainless steel 75

IS18005-T Gas distributor, titianium 100

IS18006 Support plate 216

IS18007 Manifold 41

IS18008 Plug 272

IS18010 Hold down rod (2/pack) 89

IS18011 Hold down knob (2/pack) 39

IS18012 Cathode connector (2/pack) 68

IS18013 Cathode support (2/pack) 281

IS18014 Anode connector 48

IS18015 Tie rod (2/pack) 24

IS80017 Socket 84

IS18018 Cable retainer 116

IS18019 Magnet 40

IS18022 Socket cover 50

IS18023 Work station 80

IS18026-2 Stainless steel disc 15

IS30274 Cathode filament 6

IS20012 Male connector 1/8 tube x 1/8 NPT 9.5

IS1032 Insulator, male, pink, 10-32M 6.5

IS0035 Insulator, male white, 10-32M 6.5

IS0632M Insulator, male, 6-32M 8

IS1001 Ruby saphire ball 6

IS29957 Mark I cable assembly 48" 286

IS29957-38 Mark I cable assembly 38" 419

IS19368 Outer shell 440

IS1032-20-HH-B-S Screw, machine, 10-32 x 1-1/4, hex head 6.50/10 pack

IS1032-03-CH-H-S Screw, machine, 10-32 x 3/16, cap head 6.50/10 pack

IS1032-CH-H-S Screw, machine, 10-32 x 1, cap head 6.50/10 pack

IS1032-H Nut, hex, 10-32 6.50/10 pack

IS10-FL Washer, flat, No.10 3.50/10 pack

IS-200-1-2 Male connector, 1/8 tube x 1/8 NPT 9.5

IS-2-UT-6 Ultra-Torr union, 1/4" 45

IS17490-10 Set screw, 6-32 x 1/8 AU 56/10 pack

IS21146-7 Nut, hex, 10-32, AU 61/10 pack

page 1


